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SCIENCE 1206
Physics  Review
Formulas:




v = d

v = d

a =  v2  -  v1






       t

       t


t

1.
5.0 m = ___ cm



0.5 cm = ____ μm

2. 17 mm = ___ da



0.07 km = ____ cm

3. 20 Mm = ___ km



50 m = ____ mm

Change the following into scientific notation:

4. 123 000 000 = ______________

245 750 000 000 = _______________

5. 0.0000756 = ______________

0.000008 = _____________

Change the following from scientific notation to standard (normal) format!
6. 1.23 x 107 = _______________ 


1.4765 x 10-6 = _____________

7. 2.78932 x 109 = ___________________

7.89 x 10-3 = _______________

Rules for deciding how many digits in a number are significant:

a. All non-zero digits in a number are significant.
b. Zeros between other digits are significant. 

c. Zeroes at the end of a decimal number are significant.
d. Zeroes at the beginning of a number are NOT significant .
e. All counted quantities are exact!  

Alright example time…
How many Significant Digits are in the following numbers?:

8. 132 m ___


0.00030 mm____


9. 400 kg _____


300 pens _____

10. 450 cm ____

0.500 m _____
1 505 500 mice ______

11. 2 404 000 km _____

Round the following to the numbers to three significant digits:

12. 1233 _____

720 ___________

3.005________

127_______

13. 1 252 000 _______

1.335 ________

0.003000 _________

Give all answers to the correct number of significant digits.
1. Give the distance and displacement in each of the following: 

a.) Jim walks 4.00km[N] then 5.00km[S] 

b.) Tracy cycles 50.0km[W] then 20.0km[E] and then a further 25.0km[E] 

2. In question 1, if Jim and Tracy both take 3.0h, what is their speed and velocity? 

3. How long will it take a firecracker to travel 950.0m [W] at an average velocity of 19 m/s [W]? 

4. How far will a man travel in 15 min driving his car down a highway at an average speed of 24m/s? 

5. A person travels at 100.0km[S] by car in 2.00 hours and 1200 km[N] by plane in 3.00 hours. 
a) Find the person’s total distance traveled. 

b) Find the person’s total displacement. 

c) Find the average speed and average velocity. 

6. Tom travels at a speed of 30.0km/h for 15min around a circular track and ends where he started. What is Tom’s displacement? 

7. Draw a distance-time graph for the data given in the table below, then complete 

the questions that follow. Remember to: Draw a line of best fit, give the graph a title and label both axes. 
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Table: Distance-Time Data
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Time (s)
Position
(m)
0.0 0
5.0 
5 

10.0
     12

15.0
     15
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20.0 19.0 

a) From the graph, calculate the slope. 
b) What does the slope represent? 

8. Draw a speed-time graph for the data given in the table below, then complete 

the questions that follow. Remember to: Draw a line of best fit, give the graph a title and label both axes. 

Table 1: Speed-time data for a rolling marble
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	Time(s)
	Speed(m/s)
	

	0.0
	0.0
	

	5.0
	0.5
	

	
	
	

	10.0
	1.0
	

	15.0
	1.5
	

	20.0
	2.0
	

	25.0
	2.5
	

	30.0
	3.0
	

	35.0
	3.5
	

	40.0
	4.0
	


(a)Calculate the slope of the speed-time graph. What does this represent? 

(b) Calculate the Area under the line.  What does this represent?
9. A rabbit speeds up at a rate of 3.70 m/s2 to flee from a wolf. If he started at 1.0 m/s and reached a velocity of 8.87 m/s, calculate the time.
10.
A jogger running at 2.3 m/s [E] accelerates at 0.520 m/s2 [E] for 5.00 s. Find the final velocity of the runner.

11 A skier travels 1.80 m/s down a hill. 5.80 s later she is traveling 9.30 m/s. Calculate her acceleration

12 A racecar has an acceleration of 25 m/s2.  How fast was the car traveling if it takes the car 1.4 s to slow down and had and final velocity of 50 m/s? 
13 The driver of a bobsled brakes the speed of her sled from 24.8 m/s to 12.2 m/s in 1.4 seconds.  What is the acceleration rate of the sled? 

14 A skier is moving at 1.8 m/s (down) near the top of a hill.  4.2 s later she is travelling at 8.3 m/s (down).  What is her average acceleration?

15.  (a) What is the distance traveled in the motion shown below?

(b) What is the acceleration?
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16.  Sketch the displacement – time graph on the grid below.

What is the velocity at 2.0s?

	Time(s)
	Displacement(m)

	0
	0

	1
	0.5

	2
	2.0

	3
	4.5

	4
	8.0

	5
	13

	6
	18
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